Principles of Statistics : 2016
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The term statistics was used first in :

(a)In 1739 (b) In 1749 (¢)In 1759 (d)In 1769
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Units of analysis and interpretation include :
(a) Coefficient  (b) Rate (c)Ratio -~ (d) All these
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© Statistical data are of what type ? '
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For the calculation of arithmetic mean the class intervals should be :
(a) Exclusive (b) Unequal (c) Equal (d) Allare possible
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If the median of 3, 4, x, 8 is 5, then the value of x is:
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The Second n"ame of second quartile is :

(A) Median (B)Mode - (O) Mean - (D) None of thesé
(viiy 0 F S 9F W Ra A9 § |

(@) faEr (@) w9 ferrer (maaﬁ%ﬁam@aﬁ%mqa

The measurements based on all values of the series is:

- (A)Range (B) Standard deviation a
(C)Quartile deviation " - (D) None of these
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Quartile deviation is: .
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Formula of Karl pearson’sc‘oefﬁcient of skewness is :
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Karl Pearsan correlation coefficient is always :
_ (A) More thanl ~(B) Less then — 1
* (C)Between—land+1 ~ (D) More than 0
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The correlation between price and demand of a commodity is :
(A) Positive - (B)Negative (C) Zero (D) None
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- The two lines of intersect at the point : ;
(A)On (X.3)  (B)On(l,1)  (C)On(0,0) (D) None of these
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The formula for finding index number by simple aggregative method is
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In the computation of price index number the price of the base is assumed as
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W hich of the tollowing can not be calculated by graphical method?
(A) Mean (B)Mcedian (C)yMode (D) Quartile
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Explain the characteristics of statistics.
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State the meaning of primary and secondary data.
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Locate mode for the following data :

69. 10, 12.18.19.23.28,24,.28.23,57.48.23.49.60
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Define Harmonic Mean.
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Find out Range and its coefficient of the following data :
IR (Size) 35 7 9 il
FEd (Frequency) 11 15 13 19 B}
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Define skewness. How does it different from dispersion.
eHaY F Hed & QHEE|
Expiain the Importance ot Correlation.
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Whit do yvou usderstand by regression and regression lines?

Q0

oy 9w U9 el W (59 | afn dfed

Distinguish between fixed base and chain base index.
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What do you understand by Duo-directional bar diagram.
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Give the qualities ol a good questionnaire.
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Explain limits or classification and essentials of an ideal classification.
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Compulc m‘ilhmcxic mean from the following table :
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(No. of Workers)

150 150

%5 100
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FFor the following frequency distribution the mode is 47.5. Find the miss-
ing frequency. .
a1 Class O-10  10-20 20-30  30-30 40-50 50-60 60-70 70-80

. S f 7 8 16 9 0 33 o7
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Calculate mean deviation from mode and its coetticient :

T Class S-15 1525 2535 3545 4555
3G 6 9 IS 14 6
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[f Bowley’s coetlicient of skewness is —0.36 . Q; = 8.6 and M = 12.5 then
find Q and quartile Coetticient of Dispersion. |
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Find out the dift. coefficient of correlation between x and y by the method
of rank differences : _

N 20 » 24 25 30 32 28 21 26
vooo1l6 15 0 20 19 18 2 H 23
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Obtain the two regre'ssiqn equation from the following data :
X: I 2 3 4 5
’ 8 0 12 13
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- What is cost of lmmJ index number‘? Explam the dlfﬁcultles in its con-
struction?
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- Write a Short essay on the graphic and diagrammatic presentatlon ofdata.




